

$$\begin{aligned}
 & s^{G-dk} \cdot \text{GuStW} + s^G \cdot (G - s^{G-dk} \cdot \text{GuStW} - 0,111 \cdot \text{GuStW}) + s^2 \cdot (G - s^{G-dk} \cdot \text{GuStW}) \\
 & + s^{Solz} \cdot s^2 \cdot (G - s^{G-dk} \cdot \text{GuStW})
 \end{aligned}$$

$$\begin{aligned}
 & \underline{\underline{G}} \cdot (s^G + s^2 + s^{Solz} \cdot s^2) + \\
 & \underline{\underline{\text{GuStW}}} \cdot (s^{G-dk} - s^G \cdot s^{G-dk} - s^G \cdot 0,111 - s^2 \cdot s^{G-dk} - s^{Solz} \cdot s^2 \cdot s^{G-dk})
 \end{aligned}$$

$$\text{Est} = 0,42 \quad \text{Zu E} - \cancel{8.969,74}$$

$$\text{Est}(\text{Zu E}) = \textcircled{0,42}$$

$$CSf(\underline{zVE}) = (212,02 \text{ (z)} + 2397) \cdot z + 972,79$$

mit (z) $\frac{zVE - 14.532}{10.000}$

Kettenregel: Innerer Ableitung \times Äußerer Ableitung

$$CSf'(z) = 212,02 z^2 + 2397 \cdot z + 972,79$$

$$CSf''(z) = 424,04 z + 2397$$

$$z'(zVE) = \frac{1}{10000} \cdot zVE - \frac{14.532}{10.000}$$

$$z'(zVE) = \frac{1}{10000}$$

$$CSf'(zVE) = \frac{424,04 z + 2397}{10.000}$$

$$\Rightarrow z = \frac{50.000 - 14.532}{10.000}$$

$$\Rightarrow 34\%$$

$$\text{I} \quad \text{CSA} = s^e (X - \text{Kist})$$

$$\text{II} \quad \text{Kist} = [s^e (X - \text{Kist})] s^k$$

$$\hookrightarrow \text{Kist} = (s^e \cdot X - s^e \cdot \text{Kist}) \cdot s^2$$

$$\text{Kist} = s^e \cdot X \cdot s^2 - s^e \cdot \text{Kist} \cdot s^2$$

$$\text{Kist} + s^e \cdot \text{Kist} \cdot s^2 = s^e \cdot X \cdot s^2$$

$$\text{Kist} (1 + s^e \cdot s^2) = s^e \cdot s^2 \cdot X \quad | : X \quad | (1 + s^e \cdot s^2)$$

$$\Rightarrow \frac{\text{Kist}}{X} = \frac{\text{Kist}}{X} \cdot \frac{s^e \cdot s^2}{1 + s^e \cdot s^2} = s_{\text{eff}}^2$$

$$\Rightarrow \text{Kist} = s_{\text{eff}}^2 \cdot X$$

$$\Sigma_{\text{St}} = s^e (X - \text{Kiss})$$

$$\text{Kiss} = s_{\text{eff}}^2 \cdot X$$

$$\Sigma_{\text{St}} = s^e (X - s_{\text{eff}}^2 \cdot X)$$

$$= s^e \cdot X - s^e \cdot s_{\text{eff}}^2 \cdot X$$

$$\Sigma_{\text{St}} = X (s^e - s^e \cdot s_{\text{eff}}^2)$$

$$\frac{\Sigma_{\text{St}}}{X} = s^e - s^e \cdot s_{\text{eff}}^2$$

$$\Rightarrow s_{\text{eff}}^e = \frac{\Sigma_{\text{St}}}{X}$$

$$\frac{\Sigma_{\text{St}}}{X} = \text{Kiss} = s^e (1 - s_{\text{eff}}^2)$$

§ 35 ES & G

$\Rightarrow \min(\mu \cdot H, \mu \cdot 4)$

$\mu = 3,5\%$

$\min(3,5\% \cdot H, 14\%)$

$H > 400 \Rightarrow 14\%$

$H < 400 \Rightarrow \mu \cdot H, 3,5\% \cdot H, S^Q$

$\Rightarrow H$

$$\begin{aligned}
 & S^G \cdot \cancel{G} + S^E \cdot \cancel{G} - \text{Min}(\mu \cdot H, \mu \cdot u) \cdot \cancel{G} \\
 & + (S^E \cdot \cancel{G} - \text{Min}(\mu \cdot H, \mu \cdot u) \cdot \cancel{G}) \cdot S^{\text{Sol}2}
 \end{aligned}$$

$$\Rightarrow S^G + (S^E - \text{Min}(\mu \cdot H, \mu \cdot u)) + (S^E - \text{Min}(\mu \cdot H, \mu \cdot u)) S^{\text{Sol}2}$$

$$\boxed{S^G + S^E \cdot (1 + S^{\text{Sol}2}) - \text{Min}(\mu \cdot H, \mu \cdot u) \cdot (1 + S^{\text{Sol}2})}$$

\rightarrow Steuerpflicht vor der
 Passivierung!

$$S^G + S^E (1 + S^{\text{Solz}}) - \min(\mu \cdot H, \mu \cdot Y) (1 + S^{\text{Solz}}) = S^E (1 + S^{\text{Solz}})$$

↳ Belohnung der
gewendeten Einheiten / $- S^E (1 + S^{\text{Solz}})$

$$H = ?$$

$$S^G - \min(\mu \cdot H, \mu \cdot Y) (1 + S^{\text{Solz}}) = 0$$

$$S^G = \min(\mu \cdot H, \mu \cdot Y) (1 + S^{\text{Solz}})$$

$$\mu \cdot H = \min(\mu \cdot H, \mu \cdot Y) (1 + S^{\text{Solz}})$$

$$\mu \cdot H = \mu \cdot \min(H, Y) (1 + S^{\text{Solz}}) \quad / : \mu$$

$$H = \min(H, Y) (1 + S^{\text{Solz}})$$

$$H = \min(H, u) (1 + S^{Sol2})$$

$$H = u \cdot (1 + S^{Sol2})$$

$$S^{Sol2} = 5,5\%$$

$$H = \underline{\underline{422\%}}$$

$$S^G + S^E \cdot (1 + S^{Sol2}) - (\min\{\mu \cdot H, \mu \cdot 4\}) (1 + S^{Sol2})$$

$$H \leq 400$$

$$S^G + S^E (1 + S^{Sol2}) - (\mu \cdot H) (1 + S^{Sol2})$$

$$P_{S(H)} = \mu \cdot H + S^E (1 + S^{Sol2}) - \mu \cdot H \cdot (1 + S^{Sol2})$$

$$P_{S(H)}' = \boxed{\mu - \mu (1 + S^{Sol2})}$$

$$G \cdot \left[S^G + S^E (1 + S^{Sol2}) - \delta^{35} (1 + S^{Sol2}) \right] \quad \delta^{35} = \min(\mu \cdot H, \mu \cdot a)$$

$$\begin{aligned}
 & S^E (1 + S^{Sol2}) \cdot \left[R + M^{EST} - F^{EST} \right] \\
 + & S^G \cdot \left[R + M^{EST} + M^{GewSt} - F^{GewSt} \right] \\
 - & \delta^{35} (1 + S^{Sol2}) \cdot \left[R + M^{EST} + M^{GewSt} - F^{GewSt} \right]
 \end{aligned}$$

$$\begin{aligned}
 & R \cdot \left[(S^E (1 + S^{Sol2}) + S^G - \delta^{35} (1 + S^{Sol2})) \right] + \\
 & M^{EST} \cdot \left[(S^E (1 + S^{Sol2}) + S^G - \delta^{35} (1 + S^{Sol2})) \right] + \\
 & M^{GewSt} \cdot \left[S^G - \delta^{35} (1 + S^{Sol2}) \right]
 \end{aligned}$$

$$F^{est} \cdot (-s^E (1 + s^{1/2}))$$

$$F^{Growth} \cdot [-s^G + s^3 s (1 + s^{1/2})]$$

$$\left[S^G + S^2 (1 + S^{Solz}) + \left(1 - S^E - S^2 (1 + S^{Solz}) \right) \times S^A (1 + S^{Solz}) \right] \times G$$

↓

↓

A B M G

$$S^2 (1 + S^{Solz}) \times \left[R + M^{EST} + M^{KST} \right]$$

$$S^G \times \left[R + M^{EST} + M^{KST} - L + M^{GcaB} \right]$$

$$S^A (1 + S^{Solz}) \times \left[A = F^{SPB} \right]$$

$$S^E (1 + S^{Solz}) \times \left[L = F^{EST} \right]$$

$$R \cdot [s^2(1+s^{0.5}) + s^G]$$

$$M^{EST} \cdot [s^2(1+s^{0.5}) + s^G]$$

$$M^{KST} \cdot [s^2(1+s^{0.5}) + s^G]$$

$$M^{Cwdt} \cdot [s^C]$$

$$A \cdot [s^A(1+s^{0.5})]$$

$$F^{SPB} \cdot [-s^A(1+s^{0.5})]$$

$$L \cdot [-s^2(1+s^{0.5}) - s^C + s^E(1+s^{0.5})]$$

$$F^{EST} \cdot [-s^E(1+s^{0.5})]$$